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TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.
UNIT-AUNIT-AUNIT-AUNIT-AUNIT-A

iz +1- ys[kkadu lehdj.k ls vki D;k le>rs gSa\ ,d dkYifud mnkgj.k dh lgk;rk ls
le>kb,A@What do you understand by Accounting Equation? Explain it with
an imaginary example.

OR/vFkok
Jh jfo dqekj ,.M lal dh iqLrdksa ls 31 ekpZ] 2010 dks fuEu ryiV cuk;k x;k Fkk
%@The following trial balance was extracted from the books of Ravi Kumar &
Sons on 31st March, 2010: Dr.Dr.Dr.Dr.Dr. Cr.Cr.Cr.Cr.Cr.

Rs.Rs.Rs.Rs.Rs. Rs.Rs.Rs.Rs.Rs.
vkgj.k o iw¡th (drawings and Capital) 5,000 100000
Ø; ,oa foØ;  ( purchases  and Sales) 68,000 1,20,000
nsunkj o ysunkj (Debtors and Creditors) 40,000 30,000
izkjafHkd jgfr;k (Opening Stock) 30,000 -
vkod okilh ( Returns Inwards) 3,000 -
cSad vf/kfod"kZ (Bank Overdraft) - 12,000
osru  (Salaries) 17,000 -
rki o fctyh dk;kZy; (Heating & Lighting) 2,000 -
iÍk/k r lEifÙk ( Leasehold property) 80,000 -
izkIr deh’ku (Commission Received ) - 2,000
;k=k O;; (Travelling Expenses) 3,000 -
eqnz.k o LVs’kujh ( printing & Stationary) 1,000 -
QuhZpj (Furniture) 9,000 -
lafnX/k _.k vk;kstu (provision for doubtful debts ) - 4,000
etnwjh o HkkM+k (Wages & Freight) 10,000 -
izf{kq  'kqYd (Apprentice premium) - 5,000
gLrs jksdM ( Cash  in hand ) 5,000 -

2,73,0002,73,0002,73,0002,73,0002,73,000 2,73,0002,73,0002,73,0002,73,0002,73,000
fuEu lek;kstuksa lfgr 31 ekpZ] 2010 dks lEkkIr gksus okys o"kZ ds fy, O;kikj [kkrk]
ykHk&gkfu [kkrk rFkk mlh frfFk dk fpðk cukb, %@Prepare Trading Account and
profit & Loss Account for the year ending 31st March 2010 and a Balance Sheet as
on that date, including the following adjustments:
1- vfUre jgfr;k 15]000 : +A@Closing Stock Rs.15, 000.
2- etnwjh ds 1]000 : + vHkh nsuk ckdh gSA@Rs1, 000 for wages is still payable.
3- izkIr deh’ku dk 75 izfr’kr dk;Z gh iwjk gqvk gSA@75% of work for

commission received has been completed.

(i) d̀-ì-m-@P.T.O.(iv)

Sales at Branch:
          Cash Sales 25,010 35,000
         Credit Sales 31,000 30,100
Cash collected from Debtors 30,400 29,800
Goods returned by Debtors 1,200 1,500
Goods returned by Branch to HO 1,500 -
Goods transferred from Kanpur to Agra 2,100 2,100
Surplus in Stock - 300
Shortage of Stock 450 -
Discount allowed to Customers 200 350
Cheque Sent to Branch for Expenses 5,400 6,700

UNIT –EUNIT –EUNIT –EUNIT –EUNIT –E
iz + 5 + iwueZwY;k¡du [kkrk fdls dgrs gSa\ ;g D;ksa] dc vkSj dSls rS;kj fd;k tkrk gS\ dkYifud

vk¡dM+s ysrs gq, mi;qDr mnkgj.k nhft,A@What is revaluation Account? Why, when
and how is it prepared? Give a suitable example taking imaginary figures.

OR/OR/OR/OR/OR/vFkokvFkokvFkokvFkokvFkok
fuEufyf[kr ysu&nsuksa dks dqekj ,.M dEiuh dh fofHkUu lgk;d iqLrdksa esa fyf[k,%@Enter the
following transactions in various Subsidiary books of Kumar & Co.:

20102010201020102010
vizSy] 4 es?kk ,.M dEiuh ls 5]800: +dk eky [kjhnk] O;kikfjd cÍk 10 izfr’kr A
April 4. Purchased goods from Megha & Co. for Rs.5, 800 Less 10% trade discount.
vizSy] 7 os.kq ,.M dEiuh +dks eky cspk 8]900: +] O;kikfjd cÍk 20 izfr’kr A
April 7. Sold goods to Venu & Co. for Rs.8, 900 Less 20% trade discount.
viSzy] 12 vej dks eky cspk 6]000: +A
April 12. Sold goods to Amar for Rs.6, 000.
vizSy] 18 vej us eky 200: +dk ykSVk;kA
April 18. Goods worth Rs.200 returned by Amar.
vizyS] 21 lquhy ,.M dEiuh ls 8]000: +dk eky [kjhnkA
April 21. Purchased goods from Sunil & co. for Rs.8, 000.
vizSy] 24 QuhZpj gkÅl ls 1]800: +QuhZpj m/kkj [kjhnkA
April 24. Purchased Furniture for Rs.1, 800 from Furniture House on credit.
vizyS] 29 lquhy ,.M dEiuh dks 300: +dk eky ykSVk;kA
April 29. Goods worth Rs.300 returned to Sunil & Co.
vizSy] 30 iw¡th ij C;kt 510: + yxk;kA
April 30. Interest on Capital provided Rs.510.
vizSy] 30 Lokeh us O;kikj ls futh iz;ksx ds fy, 400 #i;s dk eky fudkykA
April 30. Goods worth Rs.400 taken by the Proprietor for his personal use.



(iii) d̀-ì-m-@P.T.O.(ii)

4- iÍk/k r lEifÙk ij 5 izfr’kr o QuhZpj ij 10 izfr’kr ewY;&ál dkfV,A@
Charge depreciation at 5% on Leasehold property and at 10% on Furniture.

5- lafnX/k _.k vk;kstu nsunkjksa ds 6 izfr’kr rd cuk;s j[kuk gSA@The provision
for doubtful debts is to be maintained at 6% on debtors.

6- 10]000: + dh ,d u;h e’khu [kjhnh rFkk Hkqxrku pSd }kjk dj fn;k x;k] fdUrq
iqLrdksa esa bldk dksbZ ys[kk ugha fd;k x;k gSAA new machine was purchases for
Rs.10, 000 and the payment was made by cheque , the entry for this
purchase has not been made in the books.

7- osru 2]000: + vkxkeh o"kZ ls lEcfU/kr gSA@Rs.2, 000 for Salaries relates to next year.
UNIT-BUNIT-BUNIT-BUNIT-BUNIT-B

iz + 2 + Li"V :Ik ls fVIIkf.;k¡ fyf[k, %@  Write explanatory notes on:
¼v½ ekxZ esa eky (Goods in transit)   ¼c½ ekxZ esa jksdM+ (Cash in transit)
¼l½ 'kk[kk LFkk;h lEifÙk;ksa ij ewY;&ál (Depreciation on branch fixed assets)
¼n½ vUrj &’kk[kk O;ogkj (Inter-branch transactions)

OR/OR/OR/OR/OR/vFkokvFkokvFkokvFkokvFkok
31 ekpZ] 2010 dks lekIr o"kZ ds fy, turk vkS"k/kky; ds izkfIr ,oa Hkqxrku [kkrs dk
fooj.k fuEu izdkj gS&@ The details of Receipts and Payments Account of Janta
Hospital for the year ended 31st March 2010 are as following: -
To Opening Balance of By Medicines 30,590
cash in hand Rs.7,130 By Salaries 36,500
To Subscriptions 47,996 By petty Expenses 461
To Donations 14,500 By Equipment 15,000
To Interest on Investments By Expenses on charity show 750
@7% for full year 7,000 By Cash in hand 3,775
To proceeds from charity show 10,450

87,07687,07687,07687,07687,076 87,07687,07687,07687,07687,076
vfrfjDr lwpuk,a / Additional Information

on 1.04.2009 on 31.03.2010
Subscription Outstanding 240 280
Subscription received in Advance 64 100
Stock of Medicines 8,810 9,740
Salaries outstanding - 1,000
Equipment 21,200 31,600
Building 40,000 38,000
Investment 1,00,000 -
mi;qZDr fooj.kksa ls 31ekpZ] 2010 dks lekIr o"kZ ds fy, vk;&O;; [kkrk rFkk mlh
frfFk dk fpÎk cukb;sA@From the above details prepare Income and Expenditure
Accounts for the year ending 31st March, 2010 and a Balance Sheet as on that date.

UNIT-CUNIT-CUNIT-CUNIT-CUNIT-C
iz + 3 + ys[kk ekud e.My ds dk;Z crkb,A Hkkjr esa ys[kk ekud ds fuxZeu dh izfØ;k Hkh

le>kb,A@Give the functions of Accounting Standards Board. Also explain the
process of the issue of accounting standards.

OR/OR/OR/OR/OR/vFkokvFkokvFkokvFkokvFkok
jktk] jkuh ,oa jfo 5 % 3 % 2 ds vuqikr esa ykHk cakVusa ds lk>snkj gaSA 31 ekpZ] 2010 dks
mudk fpÎk fuEu izdkj gS @ Raja, Rani and Ravi are partners sharing profits in the
ratio of 5:3:2. The following is their Balance Sheet as on 31st March, 2010-

Balance Sheet as on 31Balance Sheet as on 31Balance Sheet as on 31Balance Sheet as on 31Balance Sheet as on 31ststststst March 2010 March 2010 March 2010 March 2010 March 2010
nkf;Ùonkf;Ùonkf;Ùonkf;Ùonkf;Ùo ¼ ¼ ¼ ¼ ¼Liabilities)Liabilities)Liabilities)Liabilities)Liabilities) Rs.Rs.Rs.Rs.Rs. lEifÙk;k¡ lEifÙk;k¡ lEifÙk;k¡ lEifÙk;k¡ lEifÙk;k¡ (Assets)(Assets)(Assets)(Assets)(Assets) Rs.Rs.Rs.Rs.Rs.
Creditors & Bill Payable 40,000 Building a\c 40,000
Loan from Raja 10,000 Plant  & Machinery 30,000
Capital A/c : Stock A/c 30,000
Raja 50,000 Debtors 60,000
Rani 40,000
Ravi   20,000

1,60,0001,60,0001,60,0001,60,0001,60,000 1,60,0001,60,0001,60,0001,60,0001,60,000
;g fuf’pr fd;k x;k fd tSls&tSls olwyh gks ] nkf;Ùo ,oa lk>nkjksa dk Hkqxrku dj
fn;k tk;sA olwyh bl izdkj gqbZ &@ It was agreed to replay liabilities and partners
as and when amount realised. Realisation was as under –

1 May, 2010 30,000
1 June, 2010 73,000
1 September, 2010 47,000

olwyh jkf’k ds forj.k gsrq fooj.k&i= rS;kj dhft,A
Prepare a Statement of Distribution of Realisation amount.

UNIT-DUNIT-DUNIT-DUNIT-DUNIT-D
iz +4- cSad lek/kku fooj.k D;k gS\ ;g D;ksa vkSj dSls cuk;k tkrk gS\
     What is a Bank Reconciliation Statement?  Why and how is it prepared?

OR/OR/OR/OR/OR/vFkokvFkokvFkokvFkokvFkok
bf.M;u lksi feYl fy + dh nks 'kk[kk,¡ vkxjk ,oa dkuiwj esa gSA 'kk[kkvksa dksa eky ykxr
ewY; esa 50 izfr’kr tksM+dj “stk tkrk gSA 'kk[kk izfrfnu dh jksdM+ izkfIr dks eq[;
dk;kZy; dks Hkst nsrh gS vkSj lEkLr [kpsZa eq[; dk;kZy; }kjk Hkqxrku fd;s tkrs gSA
fuEukafdr fooj.kksa ls LVkWd [kkrk] 'kk[kk dks Hkstk x;k eky [kkrk] 'kk[kk nsunkj [kkrk
LVkWd o nsunkj i)fr ij cukb;s rFkk 'kk[kk }kjk vftZr ykHk crkb;sa % ;g ekurs
gq, fd O;ogkjksa dks iz/kku dk;kZy; dh iqLrdksa esa chtd ewY; ij ntZ fd;k tkrk gS
%@ Indian Shop Mills Ltd. has two branches, at Agra and Kanpur. Goods are
invoiced to branches at cost plus 50%. Branches remit all Cash received to the head
Office and all expenses are met by HO. From the following particulars, prepare
Branch Stock Account, Goods sent to Branch, Branch Debtors Account on the
Stock and Debtors System to show the profit earned at the branch: assuming that the
transactions are recorded at invoice price in HO.Books:

AgraAgraAgraAgraAgra KanpurKanpurKanpurKanpurKanpur
Stock on 1st Jan. 2010 (invoice price) 9,300 15,600
Debtors on 1st Jan., 2010 6,800 8,700
Goods invoiced to Branch (Cost price) 34,000 36,000



(i) d̀-ì-m-@P.T.O.(ii)
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Note : Attempt all questions. Each question carries equal marks.

Q. 1. Define the terms 'Proposal' and 'Acceptance'. State the rules regarding
valid proposal.

"n«ñVmd' Ed§ 'ñdrH¥${V' eãXm| H$mo n[a^m{fV H$s{OEŸ& d¡Ú àñVmd gå~ÝYr {Z`_
~VbmBEŸ&

OR / AWdm
What do you understand by 'Capacity to Contract'? State the rules
regarding contracts made by minors.

"AZw~ÝY H$aZo H$s j_Vm' go Amn Š`m g_PVo h¢Ÿ& Adñ`H$m| Ûmam {H$`o J`o
AZw~ÝYm| go gå~pÝYV {Z`_m| H$m dU©Z H$s{O òŸ&

Q. 2. Write a short note on any two of the following :

{ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßnUr {b{IE -
(i) Coercion / CËnr‹S>Z
(ii) Undue influence / AZw{MV à^md
(iii) Fraud / H$nQ>

OR / AWdm
Define bailment and state the duties of a bailor and a bailee.

{Zjon H$s n[a^mfm Xr{OE VWm {Zjonr Ed§ {ZjonJ«hrVm Ho$ H$Îm©ì`m| H$m CëboI
H$s{OEŸ&

Q. 3. What is a contract of sale ? State its essential characteristics.

{dH«$` AZw~ÝY Š`m h¡ ? BgHo$ Amdí`H$ bjUm| H$m dU©Z H$s{OEŸ&
OR / AWdm

What is meant by 'Unpaid Seller' ? Explain the rights of an unpaid
seller.

AXÎm {dH«o$Vm go Š`m Ame` h¡? EH$ AXÎm {dH«o$Vm Ho$ A{YH$mam| H$mo ñnîQ>
H$s{OEŸ&

Q. 4. Define the negotiable instrument. Explain the essentials of a

negotiable instrument.

{d{Z_` gmÜ` {dboI H$s n[a^mfm Xr{OEŸ& {d{Z_` gmÜ` {dboI H$s {deofVmAm|
H$mo ñnîQ> H$s{OEŸ&

OR / AWdm
Write notes on the following :

{ZåZ{b{IV na {Q>ßnUr {b{I ò -
(i) Cheque / M¡H$
(ii) Hundies / hþÊS>r

Q. 5. What is District Consumer Forum ? Describe the procedure adopted
for the redressal of consumer complaints by this forum.

{Obm Cn^moº$m _§M Š`m h¡? BgHo$ Ûmam Cn^moº$m {eH$m`Vm| Ho$ {ZdmaU Ho$ {bE
AnZmB© OmZo dmbr à{H«$`m H$m CëboI H$s{OEŸ&

OR / AWdm
State the various modes of dissolution of a firm.

\$_© Ho$ {dKQ>Z H$s {d{^ÝZ {d{Y`m§ ~VbmBEŸ&
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PAPER -  IV  : TAX PROCEDURE & PRACTICESPAPER -  IV  : TAX PROCEDURE & PRACTICESPAPER -  IV  : TAX PROCEDURE & PRACTICESPAPER -  IV  : TAX PROCEDURE & PRACTICESPAPER -  IV  : TAX PROCEDURE & PRACTICES

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

Q. 1. What do you understand about Indian Tax System. Explain the
central and state powers of Taxation.

^maVr` H$a àUmbr go Amn Š`m g_PVo h¢? Ho$ÝÐ Ed§ amÁ`m| Ho$ H$amamonU Ho$
A{YH$mam| H$m dU©Z H$s{OEŸ&

OR / AWdm
Define Agricultural Income. Explain the procedure for determination
of tax liability on Agricultural Income Under Income Tax Act.

H¥${f Am` H$mo n[a^m{fV H$s{OEŸ& Am`H$a A{Y{Z`_ Ho$ AÝVJ©V H¥${f Am` na
H$a Xm{`Ëd {ZYm©aU H$s à{H«$`m g_PmB òŸ&

Q. 2. What are proportional and progressive taxes. Give arguments for
and against progressive taxation.

AmZwnm{VH$ Ed§ àJ{Verb H$a Š`m h¡? àJ{Verb H$a àUmbr Ho$ nj Ed§ {dnj _|
VH©$ àñVwV H$s{OEŸ&

OR / AWdm
Write short notes on the following under the Central Sales Tax Act :
(i) Goods (ii) Dealer (iii) Appropriate State (iv) Sales

Ho$ÝÐr` {dH«$` H$a A{Y{Z`_ Ho$ AÝVJ©V {ZåZ na g§{jßV {Q>ßn{U`m§ {b{IE-
(i) _mb (ii) ì`mnmar (iii) Cn ẁº$ amÁ` (iv) {dH«$`

Q. 3. Explain the provisions of Section 14 and 15 of the Central Sales Tax
Act regarding declared goods.

Kmo{fV _mb go gå~pÝYV Ho$ÝÐr` {dH«$`-H$a A{Y{Z`_ H$s Ymam-14 Ed§ 15 Ho$
àmdYmZm| H$m dU©Z H$s{OEŸ&

(i) d̀-ì-m-@P.T.O.(iv)

respect of the taxable goods.
Compute the amount of turnover and taxable turnover of M/s Shri
Ganesh & Sons.

_¡gg© lr JUoe EÊS> gÝg Zo 30 {gVå~a, 2009 H$mo g_mßV hmoZo dmbr {ÛVr`
{V_mhr Ho$ {bE 16,00,000 én ò H$s {~H«$s H$m {ddaU àñVwV {H$`mŸ& {~H«$s _|
{ZåZ _X| gpå_{bV h¢ -

én`o
1. H$a _wº$ _mb H$s {~H«$s 1,50,000
2. H$a MwH$m ò J ò _mb H$s {~H«$s 1,80,000
3. amÁ` Ho$ ~mha _mb gßbmB© {H$`m 1,30,000
4. Cn^moº$mAm| H$mo H$a-`mo½` _mb H$s {~H«$s 2,00,000
5. {Z`m©V ì`mnma Ho$ Xm¡amZ {~H«$s 80,000
6. AÝVam©îQ´>r` ì`mnma Ed§ dm{UÁ` Ho$ Xm¡amZ {~H«$s 60,000
7. H«$` {H$ ò J ò _mb Ho$ gmW àmßV ~maXmZo H$s {~H«$s 20,000
8. n§OrH¥$V ì`mnm[a`m| H$mo amÁ` _| nwZ{d©H«$` Ho$ {bE _mb

H$s {~H«$s 2,50,000
9. A{YH$V_ IwXam {~H«$s _yë` A§{H$V _mb H$s {~H«$s

{Ogo nyar Xa go H$a MwH$m H$a IarXm J`mŸ& 4,00,000
J«mhH$m| Ûmam dmng bm¡Q>m ò J ò _mb H$m Hw$b {dH«$` _yë` 40,000 én ò WmŸ&
Bg_| go 10000 én ò H$m _mb {~H«$s H$s {V{W`m| go 6 _mh Ho$ ~mX bm¡Q>m`m J`m
WmŸ& dmngr H$s am{e H$m 75 à{VeV ^mJ H$a `mo½` _mb go gå~pÝYV h¡Ÿ&
_¡gg© lr JUoe EÊS> gÝg H$s AmdV© VWm H$a `mo½` AmdV© H$m {ZYm©aU H$s{OEŸ&

OR / AWdm
What are the different types of Registration under the Rajasthan Value
Added Tax Act, 2003? Describe in details the procedures relating to
each type of Registration.

amOñWmZ _yë` n[ad{Y©V H$a A{Y{Z`_ 2003 Ho$ AYrZ n§Or`Z {H$VZo àH$ma
H$m hmoVm h¡? àË òH$ àH$ma Ho$ n§Or`Z H$s {d{Y H$m g{dñVma dU©Z H$r{OEŸ&



OR / AWdm
Explain the statutory provisions of C.S.T. Act with regard to use,
accounting and safe custody of form - C by dealers.

ì`mnm[a`m| Ho$ Ûmam \$m_©- "gr'Ho$ à`moJ, boIm§H$Z VWm gwa{jV A{^ajm Ho$
gå~ÝY _| Ho$ÝÐr` {dH«$` H$a A{Y{Z`_ Ho$ àmdYmZm| H$mo ñnîQ> H$s{OEŸ&

Q. 4. The total sales of M/s Gopi Ram Ratan Chand, Jaipur, a registered
dealer, for the quarter ended on 31st December, 2009 are as under:

Rs.

1. Shares and Securities / A§e Ed§ à{V ŷ{V`m§ 4,00,000

2. Export to America / A_o[aH$m H$mo {Z`m©V 15,00,000

3. Books / nwñVH|$ 4,00,000

4. News Papers / g_mMma-nÌ 8,00,000

5. Taxable Sales in Rajasthan State / amOñWmZ amÁ`
_| H$a `mo½` {dH«$` 5,00,000

6. Salt / Z_H$ 3,00,000

7. Bura and Mishri / ~yam Ed§ {_lr 2,00,000
8. Inter - state sales (the rate of tax on these goods

is 1% and the customers returned goods worth

Rs. 20,200 within 6 months of purchase) /

AÝVam©Á`r` {dH«$` (Bg na H$a H$s Xa 1 à{VeV h¡
Ed§ J«mhH$m| Zo 20,200 én ò H$m _mb IarX Ho$ 6 _mh Ho$
AÝXa bm¡Q>m`m Wm) 6,56,5006,56,5006,56,5006,56,5006,56,500

9. Inter-state sales (the rate of tax on these goods is
4% and the customers returned goods worth Rs.

3,120 after 8 month of purchase) / AÝam©îQ´>r` {dH«$`
(Bg na H$a H$s Xa 4 n«{VeV h¡  Ed§ J«mhH$m| Zo 3120
én ò H$m _mb IarX Ho$ 8 _mh níMmV bm¡Q>m`m Wm) 4,16,0004,16,0004,16,0004,16,0004,16,000

Books, Salt and Bura and Mishri are exempt under the Rajasthan
VAT Act.
On the basis of above information, calculate the amount of taxable turnover
of M/s Gopi Ram Ratan Chand under the Central Sales Tax Act.

(iii) d̀-ì-m-@P.T.O.(ii)

31 {Xgå~a, 2009 H$mo g_mßV hmoZo dmbr {V_mhr Ho$ {bE _¡gg© Jmonram_
aVZMÝX, O`nwa H$mo EH$ n§OrH¥$V ì`mnmar h¡, Ho$ Hw$b {dH«$` H$m {ddaU {ZåZ
àH$ma h¡ -
nwñVH|$, Z_H$ Ed§ ~wam VWm {_lr amOñWmZ _yë` n[ad{Y©V H$a A{Y{Z`_ Ho$
AÝVJ©V H$a-_wº$ h¢Ÿ&
Cn ẁ©º$ gyMZmAm| Ho$ AmYma na _¡gg© Jmonram_ aVZMÝX H$s Ho$ÝÐr` {dH«$` H$a
A{Y{Z`_ Ho$ AÝVJ©V H$a`mo½` {dH«$` H$s JUZm H$s{O òŸ&

OR / AWdm
Define Sale price under the Rajasthan Value Added Tax Act. Which
expenses are included in it and which are not. Explain with reasons.

amOñWmZ _yë` n[ad{Y©V H$a A{Y{Z`_ Ho$ AÝVJ©V {dH«$` _yë` H$mo n[a^m{fV
H$s{OEŸ& Bg_| H$m¡Z-H$m¡Z go IM} gpå_{bV {H$`o OmVo h¢ Am¡a H$m¡Z-H$m¡Z go
Zht? H$maU XoVo hþE g_PmB òŸ&

Q. 5. M/s Shri Ganesh and Sons submitted their return of Sales of Rs.
16,00,000 for the IInd quarter ending on 30th September, 2009.
Sales includes the following items :

Rs.
1. Sale of exempted goods 1,50,000
2. Sale of Tax Paid goods 1,80,000
3. Goods supplied outside the State 1,30,000
4. Sale of Taxable Goods to Consumers 2,00,000
5. Sales in the course of export trade 80,000
6. Sales in the course of inter-state trade and commerce 60,000
7. Sale of bardana (packing material) received

with the goods purchased 20,000
8. Sale of goods to registered dealers for resale in the state 2,50,000
9. Sale of goods on the package of which maximum

retail Sale price printed, purchased having paid tax
at full rate 4,00,000

The aggregate of sale prices of the good returned by the customers
was Rs. 40,000. Out of it, goods worth Rs. 10,000 was returned
after 6 months from the date of sales. 75% of the returns were in
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Note : Attempt all questions. Each question carries equal marks.

Q .1 Define statistics and discuss the importance of statistics in
business and commerce.

Lk¡kf[;dh dks ifjHkkf"kr dhft, rFkk O;kikj ,ao okf.kT; esa lk¡f[;dh dk
egRo le>kb;sA OR/vFkokCalculate median and mode from the following data :
fuEufyf[kr leadks ls e/;dk ,oa cgqyd Kkr djksaA

Wages (Rs.)/etnwjhetnwjhetnwjhetnwjhetnwjh No. of Workers/etnwjksa dh la[;ketnwjksa dh la[;ketnwjksa dh la[;ketnwjksa dh la[;ketnwjksa dh la[;k160 and above 10150 and above 30140 and above 80130 and above 140120 and above 180110 and above 194500 and above 200
(i) d̀-ì-m-@P.T.O.



(iii)(ii)

Q. 2 What is correlation ? Illustrate by means of scatter diagrams only thepresence of partial negative and perfect positive correlation.
lglEcU/k dk D;k rkRi;Z gS \ dsoy fo{ksi fp=ksa dh enn ls vksfFkd
_.kkRed vkSj iw.kZ ?kukRed lg lEcU/k dks crykbz;sA

vFkok/ORFollowing are the data relating to marks obtained by 450 students inan examination in the subjects statistics and mathematics.
fdlh ijh{kk esa 450 ds lk¡f[;dh vkSj xf.kr ds izkIrkadks ls lEcfU/kr vkadMs+
fuEu izdkj gS %

lk¡f[;dhlk¡f[;dhlk¡f[;dhlk¡f[;dhlk¡f[;dh/ xf.krxf.krxf.krxf.krxf.kr/
Statistics Math'sMean marks ( ) ek/; vad ( ) 80 96Standard deviation izeki fopyu ( ) 24 32Sum of products of deviation from mean 84150

ek/; ls vUrj ds xq.kkvksa dk ;ksxFind out equations for two lines of regression and estimate the marksobtained in statistics for a student who has secured 120 marks in maths.
Ikzrhixeu dh nks js[kkvksa ds lehdj.k Kkr dhft,A xf.kr esa 120 vad
izkIr djus okys fo|kFkhZ ds lkaf[;dh esa izkIrkad dk vuqekfur ewY; Kkr
dhft;sA

à. 3. {ZåZm§{H$V g_§H$m| go Am ẁ VWm IobZo H$s AmXV _| gh-gå~ÝY JwUm§H$ kmV H$s{OEŸ&
Calculate coefficient of correlation between age and playing habit from
the following data :

Am ẁ / age : 15 16 17 18 19 20

{dÚm{W©̀ m| H$s g§»`m /
No. of Students : 250 200 150 120 100 80

{Z`{_V {Ibm‹S>r /
No. of Students : 200 150 90 48 30 12 15

AWdm /AWdm /AWdm /AWdm /AWdm /OROROROROR

àVrnJ_Z H$s n[a^mfm Xr{OEŸ& àVrnJ_Z H$s aoImE§ Xmo Š`m| hmoVr h¡? {H$Z n[apñW{V`m|
_| Ho$db EH$ hr àVrnJ_Z aoIm hmo gH$Vr h¡?
Define regression. Why are there two regression lines? Under what
conditions can there be only one regression line?

à. 4. {ZåZ g_§H$m| go à_mn {dMbZ kmV H$s{OEŸ&
Calculate standard deviation from the following data :

Vmn_mZ /Vmn_mZ /Vmn_mZ /Vmn_mZ /Vmn_mZ /TempratureTempratureTempratureTempratureTemprature {XZm| H$s g§»`m /{XZm| H$s g§»`m /{XZm| H$s g§»`m /{XZm| H$s g§»`m /{XZm| H$s g§»`m / No. of days No. of days No. of days No. of days No. of days
- 40 to - 30 05
- 30 to - 20 14
- 20 to - 10 15
10 to 0 21
0 to 10 30
10 to 20 90
20 to 30 05

vFkok/OR
H$mb loUr {díbofU Š`m h¡? H$mb loUr Ho$ H$m¡Z-H$m¡Z go g§KQ>H$ h¢? {H$gr H$mb loUr _|
CnZ{V _mnZo H$s {d{^ÝZ {d{Y`m| H$mo ñnîQ> H$s{OEŸ&
What is time series analysis ? What are the components of time series?
Explain the various methods of estimating the trend of time series.

à. 5. gyMH$m§H$ Š`m h¡? gyMH$m§H$m| H$s aMZm _o§ AmZo dmbr g_ñ`mAm| H$m narjU H$s{OEŸ&

What is index ? What types of problem arises in construction of Index?

vFkok/OR
{ZåZ{b{IV g_§H$mo go H$mo{Q> gh-gå~ÝY JwUm§H$ kmV H$s{OEŸ&
Calculate the rank co-efficient of correlation.
X 75 88 95 70 60 80 81 50
Y 120 134 150 115 110 140 142 100



(i) d̀-ì-m-@P.T.O.(ii)
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Note : Attempt all questions. Each question carries equal marks.

Q. 1. Distinguish between micro and macro economics and show their
interdependence.

ì`pîQ> VWm g_pîQ> AW©emñÌ _| AÝVa ñnîQ> H$s{OE VWm BZH$s nmañn[aH$
{Z ©̂aVm H$mo g_PmBEŸ&

OR / AWdm
Explain the law of diminishing marginal utility with the help of
diagram and give its limitations.

gr_mÝV Cn`mo{JVm õmg {Z`_ H$s g{MÌ ì`m»`m H$s{OE VWm BgH$s gr_mE§
~VmBEŸ&

Q. 2. Explain with the help of a diagram the law of diminishing returns.
Give its limitations also.

aoIm{MÌ H$s ghm`Vm go CËn{Îm õmg {Z`_ H$mo g_PmBEŸ& Bg {Z`_ H$s gr_mE§
^r ~VmBEŸ&

OR / AWdm
Define the term 'Supply'. Explain the law of supply.

ny{V© H$s n[a^mfm Xr{OEŸ& ny{V© Ho$ {Z`_ H$s ì`m»`m H$s{OEŸ&

Q. 3. Discuss the importance of 'time element' in the 'theory of value'.

_yë` {gÕmÝV _| g_` VÎd Ho$ _hËd H$s {ddoMZm H$s{OEŸ&

OR / AWdm
Define the term 'M arket' and give classification of markets from
different points of view.

~mOma eãX H$s n[a^mfm VWm {d{^ÝZ Ñ{îQ>H$moUm| go ~mOmam| H$m dJuH$aU H$s{OEŸ&

Q. 4. Explain the marginal productivity theory of distribution.

{dVaU Ho$ gr_mÝV CËnmXH$Vm {gÕmÝV H$s ì`m»`m H$s{OEŸ&

OR / AWdm
Define profit and explain the uncertainty bearing theory of profit.

bm^ H$mo n[a^m{fV H$s{OE VWm bm^ Ho$ A{ZpíMVVm dhZ {gÕmÝV H$s ì`m»`m
H$s{OEŸ&

Q. 5. Define capital and discuss the factors affecting capital formation.

ny±Or H$s n[a^mfm Xr{OEŸ& ny±Or {Z_m©U H$mo à^m{dV H$aZo dmbo VËdm| H$mo ~VbmBEŸ&

OR / AWdm
Explain how changes in the size and distribution of national income
affect economic welfare.

ñnîQ> ê$n go g_PmBE {H$ amîQ´>r` Am` Ho$ AmH$ma d {dVaU _| n[adV©Z Am{W©H$
H$ë`mU H$mo {H$g àH$ma à^m{dV H$aVo h¢Ÿ&
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Note : Attempt all questions. Each question carries equal marks.

Q. 1. What are the objects of 'Budgeting' ?  Discuss the essential of effective
budgeting.

"~OQ>Z' Ho$ Š`m CÔoí` h¡? EH$ à^mdembr ~OQ>Z Ho$ Amdí`H$ VËdm| H$m {ddoMZ
H$s{O`oŸ&

OR / AWdm
What is meant by budget co-ordination ? How budget help in
establishing co-ordination in business.

~OQ> g_Ýd` go Š`m A{^àm` h¡? ~OQ> EH$ ì`dgm` _| g_Ýd` ñWm{nV H$aZo
_| {H$g àH$ma ghm`H$ {gÕ hmoVo h¢?

Q. 2. What do you mean by business forcasting ? Throw light on its
importance and limitations.

ì`mdgm{`H$ nydm©Zw_mZm| go Amn Š`m g_PVo h¢? BgHo$ _hËd Ed§ gr_mAm| na
àH$me S>m{b òŸ&

OR / AWdm
Explain various techniques and tools of Business forecasting.

ì`mdgm{`H$ nydm©Zw_mZm| H$s {d{^ÝZ VH$ZrH$m| d CnH$aUm| H$m dU©Z H$s{O òŸ&

(i) d̀-ì-m-@P.T.O.(iv)

àË`j _OXyar à{Vdf©/Direct wages per annum 10,000 60,000

n[adV©Zerb n[aì`` à{Vdf©/Variable overheads per annum 40,000 20,000

pñWa bmJV à{Vdf©/Fixed cost per annum  30,000 30,000

(including depreciation and interest)

The selling price of the product has been fined at Rs. 40 per unit.
Estimated life of the machine is 10 years with no solvage value,
Interest @ 5% on the cost of the machine is to be changed, you are
required to show marginal cost, contribution and profit. W hich

production alternative be selected ?

CËnmX H$m {dH«$` _yë` 40 én ò à{V BH$mB© {ZpíMV {H$`m J`m h¡Ÿ& _erZ H$m
AZw_m{_V OrdZ H$mb 10 df© h¡ O~{H$ Ad{eîQ> _yë` Hw$N> Zht h¡Ÿ& _erZ H$s
bmJV na 5 à{VeV ã`mO bJmZm h¡Ÿ& AmnH$mo gr_mÝV bmJV, A§eXmZ VWm bm^
~VbmZm h¡Ÿ& H$m¡Zgo CËnmXZ {dH$ën H$m M`Z {H$`m Om òŸ&



Q. 3. From the following informations prepare a master budget for the
year 2012 for Aravali Industries Ltd.

{ZåZ gyMZmAm| Ho$ AmYma na Aamdbr BÊS>ñQ´>rO {b{_Q>oS> Ho$ {bE df© 2012 H$m
_mñQ>a ~OQ> ~ZmB òŸ&

Rs.Rs.Rs.Rs.Rs.

Sales / {dH«$` 8,00,000

Direct Material Cost / àË`j gm_J«r bmJV 6•0% of sales

Direct wages / àË`j _OXyar 20 worker @ Rs. 150 per month

Factory overheads / H$maImZm An[aì`` …
Indriect Labour / AàË`j l_ Works Manager Rs. 500 per month

Foreman Rs. 400 per month

Store and spares / ñQ>moa VWm ñnò a 2.5 of sales

Depreciation on Machine / _erZ õmg 12,600

Light / {~Obr 5,000

Repairs etc. / _aå_V, Am{X 8,000
Administrative, Selling and distribution expenses/

àemg{ZH$, {dH«$` VWm {dVaU IM© Rs. 14,000 p.a.

Other Sundry Expenses / {d{dY IM© 10% on direct wages

OR / AWdm

Pooja Ltd. company wishes to prepare a production budget in respect
of three products A, B and C, the sales forecast for which is 80,000
units, 72,000 units and 85,000 units respectively. The estimated
requirement of inventory both at the begining and at the end of the
budget period are shown in the following schedule :

nyOm {b. H$ånZr E, ~r d gr VrZ CËnmXm| Ho$ {bE CËnmXZ ~OQ> ~ZmZm MmhVr h¡
BgHo$ {dH«$` nydm©Zw_mZ H«$_e… 80,000 BH$mB`m±, 72,000 BH$mB`m± VWm 85,000
BH$mB`m± h¡Ÿ& ~OQ> Ad{Y Ho$ àmaå^ VWm AÝV _o§ ñH$ÝY H$s AZw_m{ZV _mÌm
AJ«Vm{bH$m _| {XImB© JB© h¡ -

Inventory Schedule / Inventory Schedule / Inventory Schedule / Inventory Schedule / Inventory Schedule / ñH$ÝY AZwgyMrñH$ÝY AZwgyMrñH$ÝY AZwgyMrñH$ÝY AZwgyMrñH$ÝY AZwgyMr

Products / Products / Products / Products / Products / CËnmXCËnmXCËnmXCËnmXCËnmX
AAAAA BBBBB CCCCC

Ist January (units) 16,000 12,000 20,000

31st December (units) 20,000 11,000 27,000

AmnH$mo CËnmXZ ~OQ> ~ZmZm h¡?
You are required to prepare the production budget.

Q. 4. What is cash budget ? How is it prepared? Discuss its importance.

amoH$‹S> ~OQ> Š`m h¡? `h H¡$go V¡̀ ma {H$`m OmVm h¡? BgH$m _hËd ñnîQ> H$s{O òŸ&
OR / AWdm

Explain the difference between fined budget and flexible budget.
Describe the procedure of preparation of flexible budget.

pñWa Ed§ bmoMXma ~OQ> _| AÝVa ~VbmB òŸ& bmoMXma ~OQ> ~ZmZo H$s à{H«$`m H$m
dU©Z H$s{O òŸ&

Q. 5. What do you understand by product - mix ? Which factors are taken
into consideration while selecting the best product - mix? Explain.

CËnmXZ-{_lU go Amn Š`m g_PVo h¢? gdm}V_ CËnmX-{_lU H$m M`Z H$aVo
g_` {H$Z VËdm| H$mo Ü`mZ _| aIm OmVm h¡ ~VbmB òŸ&

OR / AWdm
A company has developed a new product which can be produced
by machine or manual labour. 20,000 units are to be produced each
year. Details of cost are as follows :

EH$ H$ånZr Zo EH$ Z ò CËnmX H$m {dH$mg {H$`m h¡ {OgH$m CËnmXZ _erZ AWdm
_mZd l_ Ûmam {H$`m Om gH$Vm h¡Ÿ& à{V df© 20,000 BH$mB`m| H$m CËnmXZ
{H$`m OmZm h¡Ÿ& bmJV Ho$ {ddaU {ZåZ àH$ma h¡ -

Machine Manual

_erZ H$m IarX _yë`/Purchase Price of Machine 4,00,000 -
àË`j gm_J«r à{Vdf©/Direct material per annum 1,00,000 1,00,000

(iii) d̀-ì-m-@P.T.O.(ii)


